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kJ/kg-K

-5 421.35 194.176 | 403.496 | 0.97870 | 1.75928 | 0.76831 | 55.3394

-4 435.84 | 195.335 | 403.876 | 0.98297 | 1.75775 | 0.77028 | 53.5682

-3 450.70 | 196.497 | 404.252 | 0.98724 | 1.75624 | 0.77226 | 51.8653

39 1496.5 | 248.361 | 416.388 | 1.16246 | 1.70073 | 0.88048 | 15.5375
40 1533.5 | 249.686 | 416.561 | 1.16659 | 1.69946 | 0.88392 | 15.1351

41 1571.2 | 251.016 | 416.726 | 1.17073 | 1.69819 | 0.88741 | 14.7439

s, kJ/kg K s, kJ/kg K

-15 95.1474 400.737 1.7969 45 15.6982 421.274 1.7144
-10 97.4256 404.017 1.8095 50 16.2355 425.871 1.7287
-5 99.6808 407.307 1.8219 55 16.7514 430.374 1.7426
0 101.915 410.610 1.8341 60 17.2491 434.803 1.7560
5 104.130 413.926 1.8461 65 17.7313 439.171 1.7690
10 106.328 417.258 1.8580 70 18.2001 443.491 1.7817
15 108.510 420.606 1.8697 75 18.6571 447.771 1.7940
20 110.678 423970 1.8813 80 19.1038 452.019 1.8061
25 112.832 426.353 1.8928 85 19.5412 456.241 1.8180




